TARGET To subtract numbers with up to 3 digits.

If the digit in the top row is smaller than the digit below it, borrow 10 from the column to the left.

Examples
H T U H T
6 5 1
8 7 2 2-8 £ 1
6 1
- 158 Borrow 10 from 70 (7, 2) -3 5
714 q7_g—24 2 6
Copy and complete. Copy and complete.
& 48 99 65 364
-12 - 40 ~49 - 207
76 58 81 781
- 34 —26 —>52 — 346
92 297
© 57 95
23 =7 = =189
80 823
© 35 © 65 @
— =27
. - EY 273
: - 73 954
© &+« © 78 — 46 - 716
-5 -5 2 o

(1) There are 68
passengers on a bus.
35 are upstairs. How
many passengers are
downstairs?

(%) Omar has 96p. He
spends 55p. How
much does he have
left?

@ There are 52
complete weeks
in a year. 21 have
passed before Paula’s
birthday. How many
weeks is it to the end
of the year?

@ Four coaches carry 240
children altogether. 126
children travel on the
first two coaches. How
many are on the last two
coaches?

@ A shop has 325
customers on Monday
and 87 fewer on
Tuesday. How many
customers does the shop
have on Tuesday?

B A newsagent has 750
newspapers. 463 are
delivered to people’s
homes. How many are
on sale in the shop?
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Borrow 100 from 600 (8, 1)

110 — 50 = 60

C

2837
— 1562

3764
— 1813

4892
— 2954
5526
— 1294

8358
— 3851

Copy and complete.

6915
28119

7463
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8505
— 2783

A trawler catches 1326
fish in one net and

718 fewer in a second
net. How many fish are
caught in the second
net?

@ There are 6863 entries
to a competition.
2147 have the right
answers. How many of
the competition entries
have wrong answers?




